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DEPARTMENTAL EXAMINATIONS

SURVEY DEPARTMENTAL TEST - SUB-INSPECTOR OF SURVEY AND

LAND RECORDS TEST - PAPER - I
(Without Books)

Maximum Time : 2.30 hours Maximum Marks : 100

b

IMPORTANT INSTRUCTIONS

OBJECTIVE TYPE
Qamer@M euens cllanmggmer

Read the following instructions carefully before beginning to answer the questions.

eflamméaenad el wellés Q@ openy Spaseam e myaemer GeUaTLONG LG S&Ha|Lb.

NB: Words of masculine gender in these instructions shall, where the context so .
require, be taken to include feminine gender.
Qs <dlenssdle e urdarfen aunidagsafle, GuaECapu Comeuligea Qe
urellafled euniiGenga(@nhd <L BiGLb.

This booklet should not be opened till the Invigilator gives a signal to open it. As
soon as the signal is received you should open the booklet and then proceed to
answer the questions.

@ lamslsrgulamer seansnefliurerflen  oaod QumeshE et SpéssaL s
sanarafiLurert aflamgOsrEli@emer dpliugnE ie@ind sieflgse e dlamitsregllamear Hnhg -
e waflés Qgm_migemib.

This question booklet contains 100 number of objective type questions. Prior to attempting to
answer, the candidate is requested to check whether all questions are there and ensure that
there are no blank pages in the question booklet. In case, if any defect is noticed in the
question paper, it shall be reported to the Invigilator immediately, within first
10_minutes after which no request will be entertained.

Geuelanmrgsrer 100 Garer@d euems elemssmer Gareanlg. eamartiugnyiser el wealsas
Qam_migd qperr, efenrigrefled eraverm eflanmésEnd @b Gubnererearar earmswb, ¢GCsgib o
usshsar / efemssdr FHlumod eIGulGédreraeur eeumgud sfuniigd Qardrereayb.
eflenmgarefidy gGsad @ap @mUulear elamgrenarls Qupp Wer LGH HOL_RSEEHGHT <D
sanarafuurarfii Qgfciss Cauam®n. 5nE Yne Qgfdlssiumn Canflémasdr gsib gnps
@a;rrshm‘&ut..mm.‘-u..rf@

Answers all questions. All questions carry equal marks.
Simandg efamsserh@n e walss Coan@ib. Dmadg lamssesd gwnrer wHIQL TG
Clarewr_ameu.
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3. Candidate must write his Register Number in the space provided on the top nght side of this
booklet alone. Do not write anything else on the Question Booklet.

. efaemiLgmyiler LfGeuamanent Geuelamssrafiar Cud awg LEasHD SigHbae @gj&a;uuL_@mm
@ gdev erps Ceuanrid. eflanrggrafier Coum eTengud TIPS Tl ).

4.  The sheet before the last page of the question booklet shall be used for any rough work.
eamgsraflen s 8 LsssHDE apar LsagHd rough work ergpdl Liniés 2 LGWINASEIE Qardreraib,
b. (a) Each question comprises of four responses i.e. (A), (B), (C) and (D). Candidate shall select

only one correct response. In case, if the candidate feels that there are more than one
correct response, shade the response which he considers is the best.

(b) In any case, a candidate shall choose only one response for each question.

(¢) If more than one answer is shaded for a question, the answer will be treated as
wrong and no mark will be given for that question. -

(d) The total marks will depend on the total number of correct responses marked in the
OMR answer sheet. (For this purpose, only one shaded circle for a question will be taken
into account for awarding mark)

(a) ea@anm elamelngd (A), (B), (C), (D) eear prevg el aar Cdar@esiiul’@erersg.
afewremriugryT SeupBled gGsenbd e sflunear el muws Coiey Geuiw Geuam(Hb. enée
Gupul e sflwrer el ser g eflamedpE @nliusns smdamd, Sjeupdle aeieilam las
sflwineng) et smadHisaCant, oeieflen e Hlpad’ @ sr’ L Caisr@ib.

(b) ereusurdlmLiQayd, @ lamellhE @Cr g elamLaws srar CaihsHEs CouaT(Hib.

(¢ eom NeamdlnE gamée Cupuli el Lmsafld e wealldsiuigmbsred el
SUPTEISTS HMHsLUILLH, Saalamailhe@ whHiQuasr aipmas i wm L g

(d) OMR dlerg grefldr @hssiulL sflurar el smens Qurmsg, Corss wAHLCQLETEET
auprsILBD (g efamellh@ ¢ eul L sHa (G Bipadl L eflen o HGw wHlQuem
QLIS savTédld o (DeHie CarerariL@ib).

6. Do not mark the answers in the Question Booklet.
eflennggratier eflenL_seners GHILIGL& anL_ng).

7. Candidate shall not remove or tear off any sheet from this question booklet. During the
examination he is not allowed to take the question booklet out of the examination hall. Only
after the examination is over, he shall be allowed to take the question booklet.
efamenriugnyt, clamgsneflenr aps @ UsssmELD, bésGeur g SfsaCanr emirg. Gaira,
paQumid Gungl, elamssreamer Caia] smLsmgeil () CeaellCu arBds Qode 2gund S wirg.
Goirey apigbs DereCy eflemgameanar e dbgd Qe oiguodlésiiu@eui.

8. Failure to comply with any of the above instructions will render you liable to such action or

penalty as the Commission may decide.
Copsear._ oiflejmrseile gCsgid BSpuu@Cuowremd Czraurameamud TRHGD s mer /
BLalgSmadsE 2 arerns CpfHIb.

9, In case of doubt, English version is the final.
efenbaaed abCouablopier, pmde augeaild Aer@ssiu’Hdrer elamsaCer @nduirerg.
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i The square of 8 is equal to

- (0 B
‘/g 64 D) 0 .,

8- 601 QUITESLD Grettiig)

Ay 74 B) 84
(C) 64 (D) 94
2 The square root of 125 is equal to
(A) 16,6_25 Jﬁ) 15625
(C) 17625 : (D) 18625
125 erémy eresrenflen auiaid ereng)
(A) 16625 (B) 15625
(C) 17625 (D) 18625
3. What is the area of a square having side 50 links?
(A) 200 wB) 2500
(C) 300 (D) 3560
50 Sl Qe egrdHen LTLLIGTE eTeren?
(A) 200 (B) 2500
(C) 300 (D) 350
4, What is the formula to find area of a rectangular field?
(A) Base x Base (B) Length x Length ~
(C)  Length x Height WD) Length x Base
@ Qecicus Hegden Lyliuare srapib @GoHib erener?
(A) @sb X &b (B) Harid x Bemb
(C)  fBemb x 2.wigd (D) Henb x iseid
5. What is the measurement of cross top? :
,/QA) 10 cm x 10 em x 6.5 em (B) 9cmx 10cm x 7.0 cm
(C) 10cm x 10 em x 10 em M 12emx9cemx 10cm
& CpiCarenr (paCamemr s an_u9én D|OTQ GTanen?
(A) 10 Q@s.8. x 10 Qa.i8. x 6.5 Qa.18. (B) 9Q@s.8. x 10 Q&.8. x 7.0 Gs..5.
(C) 10 @a.18. x 10 Qg.18. x 10 Qa.b. (D) 12 Qz.8. x 9 @Qa.i5. x 10 Qa..5.
3 090/DM/19
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6. How many links in a chain?

A) 80 : : (B) 90
C) 100 (D) 110
e sadlauid argsman ke o drerg?
(A) 80 (B) 90
(C) 100 (D) 110
W How many types in land survey?
@A 4 B 2
(C) 6 D) 8
Bl dierencusaflel cuenaaer ergsenan?
A 4 : B2
€ 6 ' ») 8
8. What is the measurement of A-stone in Land survey? .

(A) 90.0em x 21.5 ¢em x 21.5 ecm
,(B) 90.0 cm X 22.5cm x 22.5 cm
(C) 90.0 cm x 23.5 em x 23.5 cm
(D) 90.0em x 24.5 ¢cm x 24.5 ¢m
Hlo sjerenauuier Bl ‘A’ sdeller BieTey ereiren?
(A) 90.0Qs.8. x 21.5 @z..8. x 21.5 Qz..8.
(B)  90.0 @s.18. x 22.5 Qs.8. x 22.5 Qs.18.
(C)  90.0 G&.i8. x 23.5 Qs.18. x 23.5 Qs.8.
(D) 90.0 Q&.18. x 24.5 Qg.18. x 24.5 Qa.18.

»

9. What is the measurement of ‘B’-stone in Land survey?

(A) 70.0cm x 15.0 em x 15.0 em
B) 80.0cm x 15.0cem x 15.0 em
(C) 90.0 cm x 15.0 cm x 15.0 cm

¢D) 60.0 ecm x 15.0 em x 15.0 em
Bl @jerenauudled prriidid ‘B’ sevadlen ojerey ereean?
(A) 70.0@&.8. x 15.0 Q&.15. x 15.0 Qa.i8.
(B) 80.0 Qa.18. x 15.0 Q&.18. x 15.0 Qa..5.
(C) 90.0 Qa.i8. x 15.0 Q&..8. x 15.0 Qa.15.
(D) 60.0 G&ib. x 15.0 Ge.15. x 15.0 Ge.ub.
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10. Which colour is used to mention the state boundary in drawing map?

O Red (B) Yellow
‘ (C) Blue ' M’D) Greén
auenyLILgdled 1omhley eTabeneud@ erevien sedit Glair(Hda Ceued(Hib?
(A) - Heuliy . : (B) ipgpoen
(€) Bebd (D) uéeams
1E; Which colour is used to mention the Taluk boundary in drawing map?
w4 Yellow _ (B) Green
(C)  Light Red (D) Blue

GUETULSSIE STRIET eTeenend @, ereren Havit Qam(Hida Cauem(Hib?
(A) LO@REET : (B) uwé&ens

©  @ergaiiy D) fab

12.  What is 6(1) Register in Taluk office?
(A) - Register for give up the land rights
J(R) Register for patta transfer application from sub-register office

(C)  Register for pafta transfer application from pattatarar directly

(D)  Register for changes of standard,.assessmcnt. wet, dry, prompokku, from one to one

sraysr eieuans 6(1) LHGaH erermmeD ereimen?

(A)  Hesdlen o fenwenw 69 Gd Qar@ass Canil eugpd beyssamear LGuyb LEGeE

(B)  emtudeimenit SigiawssHe(mhg aimb LT brmisd elleamramriunisamer Chig wirst Liglujb
LSGeu(® @b

©) - Cprgwns Ll grrrsalBlmbg QU LT gD edlarariubismar Gbiguimsl Lub
LHGeu® @D

(D)  sod, Stewa, pEsans, L@, UpwGunsg Qmeausmer GCaupeilgions .LDIT{f){DﬁI!._JI'_I._F‘I'G-U SIBHEMET

Wrmiged Geud LudHGeaiH @D

5 - 090/DM/19
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13.  Which is Thatched house detail in the following pictures?

a

(©)

o

(D)

UL euenywliul_{Harer aneny 651 1g.6n eflerdludey erg &M7?

(B)

© (D)
14.  Which is square well detail in the following pictures?
(A) (B) —‘I

S

(D)

euarLL S8 o drear egind Senrpiblen eferddludcd ergy af?

(A)

(C)

090/DM/19
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15.

16.

1T

’/A) A (B) o

©) @ (D) _’7

How many types in land acquisition?

&) 2 ; lB) 4

€ 6 D) 8
Bl i ells bLeulgdenaaer e deanar Afeysearrs or(deufSHermer?
(A 2 ) B 4
€ 6 : (D) 8

How many works from Initial Survey?

(A) 6 \/l) 8

(€) 10 D) <18
(pseano Sjemeneuuile) Gombsid erdsener Qmﬂmh 2 GiTeren?
A) 6 (B) 8
(€ 10 )y 12

What is the mark in Tri-junction stone?
)

() @ (D) _‘7

&ymo apdendulled pL b sdedler erener @bl ) (Hé@HD?

(A) A (B) o

090/DM/19
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18. What is Taluk Account Number 4?

(A)  Relinguishment Register (B) Patta Transfer Register
. \/C) Land Assignment Register (D) Classiﬁcatilon Changes Register
QUL SHEmTE (& GTanT 4 GrammiTed Grenen ? ‘
(A) efMeweild uflGau® (B) wlimwrpged uiGau@
©) He glum i udGa@ M) eauasiur® wrpsd udCau@
(A) 84.0m ‘/B) 84.4 m
(C) 84.8m (D) 85.0m
422 efliuev gowner Qo fé oeray
A 84.08 B) 84.4.8
(C) 84.8.8 (D) 85.0.8

20.  How many blocks are classified in Town survey?

@& 5 B 3

© 7 D) 9 |
payerenal Birerwnd Qe Quinps assmen cuamswrear Wermé@senns UM ses Geuar (Hib?
A 5 (B) 3
< 7 Oy 9

21.  In aright angled triangle sine ratio is defines as

W\) The ratio of opposite side and hypotenuse
(B)  The ratio of adjacent side and hypotenuse
(C)  The ratio of opposite side and adjacent side
(D) " The ratio of hypotenuse and opposite side

19. 422 links is equal to in metric method
e QenCana pa&Caramsdle engen crar eua FuMISSILHE DS
A)  ¢m QeuGsrar wiCstemsda m Carangder afliCanamsdlen LsaEED@GD DiGen
s e & HELD 2 arer efldleb : :
| B) g QeiGaran (psCaransde g Caransddar oD Egder LsESHDGD Sisen siamdShELb
2 _airer efldlgb
| (C) om QsrlGsran sGeramsfle aHiLsssIPpED s ABSHTeT UESSHDEGD o ¢ren
‘ el gid : :
(D) @ QeiGsnan apaGaramsHed siarsHn@b ¢ Canarsdd aiusasdhEb e drer alfsn -

090/DM/19 8
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22.  Ina right angled triangle tangent ratio is defines as

The ratio of opposite side and hypotenuse
The ratio of adjacent side and hypotenuse

The ratio of opposite side and adjacent side

(D)  The ratio of hypotenuse and opposite side

0] QeriiCament @p&@lanm;}ﬁﬁm e ggetor. erem suml;ru'_lgjéia;ut_}@éln)g,].

(A) - g QemGoneas p&Goramssld @ Gmnmg;ﬂm afiCanansden LsasHDHEGD e’ﬂ;&sm
. semgE D@ b o drer efldlsid

B) m QerCarar &CaransHa o Conandlen oHogeer LESSHDEGD SigGen STaTSSHED
2_enar adlgLd

©€) oo QenGsrar psCaramgile Grgg'lrrua;&as;ﬂm@m DiH6H @{@g)@mm uEsSHHE@D o drer
eflflsid

D)  qu QsnGarar psCaramsda sransdbEd @ (’S&.nmgsﬂsﬁr THTLSSSH DG 2 aTer

aflfsib

23. What is the Horizon?

(A)

v

(€)

D)

The direction shown by compass without obstruction
The line from zenith point which intersect the celestial angle at 90 °

A major circle which is developed in celestial angle while the extension of Meridian in
earth

None of the above

eurest efleflibLy erebiig) eremen?

A) s @ad el L@ Curg anbg ead sm_ (b Has
B)  eungyés Leraiiudelmbg 90-d eunsuﬂmeb;a;rimrgmg, Qeul_Bdleanm Can®
(©) il Quofliguienar B Geugne aureflwed Carangdla o (meurd&sULBD G @i el b
(D) CuCa @il ageyddemea
24.  How many kilo-meters in a nautical mile?
v 1852 e (B) 1.752

- ©) 1652 ° " (D) 1.602
(1 rrbrml}mb EDLOENEHE; eTdhgena &.15.7
(A) 1.852 (B) 1.752
(C) 1.652 (D) 1.602

9 090/DM/19
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25, The traverse of the khandam circuits will be set up in

(A) Form No. 22 (B) Form No.
(C) FormNo.19 . ¢(D) Form No.
g FreuTadled S@RTLLD FMHMTErg — & BEESILIHID:
(A) Form No. 22 ; ‘ * (B) Form No.
(C) Form No. 19 (D) Form No.

26. 1 Sea mile is equal to

wA) 1.85 km (B) 2000 m

(C) 1.50 km (D) 1000 m
G L) MO GTETLI) .
(A) 1.85km ; (B) 2000 m
(C) 150 km - (D) 1000 m

27.  What is the value of [ ?

) L1732 (B) 1.738

(C) 1.730 (D) 1.742
\/_ -1 &L erema?
(A) 1.732 (B) 1.738
(C) 1730 (D) 1.742

28. The value of 7 is ———.
(A) 7/22 MB) 22/7
(C) 822 (D) 22/8
7T -@ InlUIL] eremen? |
(A) /22 B) 22/7
© 822 (D) 22/8

29. In U.D.R. Map, how many tri-junctions in 12 tri-angles?

(A) 8 w™ B 10
© 12 D) 14
R L. lg.2pT. cuepgUL e 12 aps&Canamiiser Qpden erdsmar Lo (p&shl @(H&GID?
(A) 8 “(@B) 10
(Cy- 12 (D) 14

090/DM/19 : 10



30. In Traverse Map, how many tri-junctions in 12 tri-angles?

Vo - B) 13

(o) RS 7 SO M) 15
@@ wrreauiey eueyuLgHld 12 w&GarenCl @QmaGtuwundear agsmean (piopdl Hlameouibadr
Bobsn? ' | ' '
(A) 12 (B) 13 :
© 14 (D) 15.

31.  Which direction of the sun from March 21 to Sep. 22 from equator?

(A) South (B) West
VO North . (D) North-west
@fwet wniéd 21 apge e ibur 22 apigui Lyngdlu Crensée b Slaeulle §)md@nh?
(A)  Qspe B) CGupe
(©C) eaLép (D) e Cuwhe
32. In a right angled triangle cosecant ratio is defined as

wA) The ratio of hypotenuse side and opposite side

(B) The ratio of hypotenuse side and adjacent side

(C) The ratio of adjacent side and opposite side

(D)  The ratio of adjacent side and hypotenuse side

Garélaem () eremig) wng)? ‘

A)  gm QerCaran aps&Canansdd siamsfn@d ¢m Caremgfled adiCsramsdpEnd 2drer
el dlgid

B) g QerGsrean &Garansdd sianpdH@Eb g Caransden B sgieTer LsssHDED e erar
e faibd

©) emn G&réJ(Basrrsﬁr Ww&Garangda siansdla @sgder LEESEDGD A aHTUEESSHDEGD
o_grer e H1d

D) G QemGanen wpaGanasda e Carangler o DogaTer UESSEDGD DiGan i aw s DHELD
o_cirer el i

11 090/DM/19
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33. In a right angled triangle cosine ratio is defined as

(A)
(B)
(€)

o

The ratio of hypotenuse side and opposite side _ : &
The ratio of hypotenuse side and adjacent side
The ratio of adjacent side and opposite side

The ratio of adjacent side and hypotenuse side

Qsrevgen (cosine) eremig) wing?

(A)

(B)

(©)

(D)

g QsiGaran piCaransHe siasddG GO Catamsid afiCanamsSn@ 2-arer
aflflsib

e QenCarenr aCaraniHa siansHdG @ Cananbilen 2| PSseTer LEEGHHEGWD 2_dien
el &lgib

o QerCaran apsCanamgle) arambila oG dgemer LEsSHDGED g erHliusasHhED
2 airen eNldlgid r
Pm QeiiCaranr wpsCaransfld @ CaransSdan @ gierar LEESHDEGD DiBen STeRTHEDHGLD
o_arer eflflsb

34. What is ‘A’-class land in Railway land?

A
(B)
(®)
(D)

Separate permanent field to set railway line, railway station
Temporary place set by survey field or sub-division
Place to produce raw-materials to railway station

Land to set railway feeder road from railway station to main road

nlaCeu flamseaild ‘A’ eugliny Heomiadr g

(A)

(B)

(©)

(D)

T Ceu aavensar, ulaGeu Henewriser Gunep Hlybsroner Gt safldseall Lomisarms
SIS I

raCauule spsrdlswors @assiuBb @Lusd  Ggmarn siCGeu  LeoonsGeur,
o | GfleursCaur jemoliLg

n9oCal HeoowusdhE Comeiwnear sssm CUMBHLESE gunfsseyd, Gesfésea|d o crear
Hlevruger

rueGeu HanewigHedmbg Wrgne &rrsmués@‘ Qsévgud pufaGen SLT Gyl SienwéEs 2 51D

Blaomiaar

090/DM/19 12




35.  Find out the formula to calculate the area by using an area square sheet?

A) Measuring the square drawing sheet's squares

Squares of sketch x Area of used square sheet

wg) Squares of sketch x Area of used square sheet

Measuring the square drawing sheet’s squares

Area of used square sheet x Area’s squares

(© Root of sketch
Measuring the square drawing sheet’s root x Area of used square sheet
D) Root of sketch x Square sheet’s root

uruy sl ggneflanr  Sjeraib  euangLiLSdla oerab  wrdl @Qmpsred sflurer  efldvyenid
e (H i &G @GS ereven?

LULE sl _garefler oemaller euidsLd

(A)
auan LSl Diaraflen euréab X o LCLITdGs
LU SLLgsmeTuLy. el &g eevSyeerin
(B) auanyLiL_Gdlen jarelflen auidatd X e LCwrélss

Lrly sCL_ganearug Sant g5 eflevSramrid

urlLé sl L sgrefler jerafler aumssin

2 LCGWrElss LuTULE s L Ssraruig L bs efavSrenid X
©) uriigs s L sareflen sjeredlan auidsib
QuenyUIL SSlen ereilem aurdiatd

urdys sl ggnaflen oerellen aurdsid X 2 LCUrdSs
(D) upliyé sl Lgsnétuig Henl_&s elevdremrid

UL Sl jerellan eurdaid X LIS &L Ssrer
Sjereller aUi&stDd

36.  How many times needle changed if a distance is 25496 links between two station?

v 250 ‘B) 26
€ 25 (D) 254
Qre@® Hloowhserse @oLCu 2der gib 25496 dhsa eaflld assmen @)é::g) oaré)
WBTHDUILLL &7
A) 250 (B) 26
(C) 25 (D) 254
13 090/DM/19
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37.
wA) Making dréwing in Traverse
(B

38.

39.

What is S.P.No. 10 in Town Survey?

)  To find Bearing
(O Planté ‘B’-stone
(D) Draw field boundary and block
Leyar #TGeauuiier S.P.No. 10 erebmuig
(A wpreufien L b GuTHigd
B)  gimeu Carenmraimanar ser (9 igH560
(C) ‘B #Ceu shser g;l_.uu@ga'u |

D) Yo areveasenaniid, erré@senemd enwullearme L b GuTHige

What is India’s IST? ‘
A) 82.10 (B)
Vw0 8230 (D)
@pdwrefer IST ereévan?
(A) 82.10 ’ (B)
(G 82.30 (D)
" What is the formula to find circled area?

\/A) zr’ (B)

40.

©y mnt (D)
aul_Lglem Lpuereflen @GSHTid eremen?

A xr’ (B)
© art (D)

In Chennai, one Ground is equal to

(A) 2300 w(B)
(C) 2500 (D)
Qaeenauiled ep(m SlyeyarTiqen FGIT <iiq. CTEE?

(A) 2300 ; (B)

(C) 2500 (D)

090/DM/19 i 14
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41.

43.

44,

Water measurement at TMC is

VO 1000 micuft

(C) 3000 mi.cu.ft
gement e jereunen TMC erermmey eremen?
(A) 1000 ilevedlwiesr Ger iy

(C) 3000 ieveSlwien san oiig

How many m.m in one inch?

(A) 20m.m

(C) 24m.m

P B @& asganan L.15?

(A) 20 .0.8

(C) 24 8.8

How many sq.km in one sq.mile?
A 259

© 2.69

PH GIT MOYIEE eTdsene agiy H.157?

(A) 2.59

L) .. 2.69

Holw many squaré meters in one cent?

(A)  40.48
(C) 40.49
a(h QaainD&E erhgamen .57
(A) 40.48
(C) 40.49

(B)
o ({2

(D)

(B)

A

(B)
(D)

(B)
(D)

(B)

(D)

W)

(D)

(B)
(D)

2000 mi.cu.ft
4000 mi.cu.ft

2000 BleveSluienn e 2iig.

4000 WBlevedlwielr sem il

22 m.m

25 m.m

22 18118
25 18118

2.49
2.79
2.49
2.79
40.47

40.46

40.47
40.46

090/DM/19
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What 1s the diameter of earth?

(A) 12842 k.m (B) 12942 k.m e
(C) 12642k.m . ) 12742 km
LpSluflerr o8l 1Lh ereébmen?
(A) 12842 4.8 (B) 12942 &.8
(©) 12642 8.8 ' D) 12742 £.8
46. In a straight line, if north angle 190 then the angle of opposite is
(A) 190 (B) 160
(C) 180 ; lD) 170 -
@ Crrlariiger uLdsds Caramd 190 o6 @muGen igen ardlit Hlovg CanamgHlar ojera ereve?
(A) 190 (B) 160
(C) 180 A D) 170
47. Which work is done at village and khandam boundary measurement using by Theodolite
machine?
(A) ‘H work WB) ‘B’ work
(C) ‘G'work (D) ‘D’ work
gmotb wHmd s aoamasmar HCu_emel smedl Aamarr® Gaiuud Liamf ereen?
(A)  H vanfl (B) - B’ uanfl
(C) ‘G uenfl _ (D) D uenh
48.  What is the representative fraction of 1 inch = 7927
(A) 1x66x 24 | * (B) 1x33x24
_ JC) 1x66x12 (D) - 1 x62x16
1 @@yé - 792-air AyAHHsgieu Genand ereen?
(A) 1x66x24 : (B) . 1x33x24
(C) 1x66x12 (D) 1x62x16
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49,  What is the distance, if measured 70.6 m by 19.8 m chain?

‘A) . 898 m (B) 70.0m
(C) 82.6m ' (D) 54.8m

~ 70.6 8 gnsHeven 19.8 8 srafled) Qanam () sjemmbsme sfwimen giyid eremen?
(A) 6985 (B) 70.0.8

(C) 82.6.8 (D) 54.8 8

b0). What is the type of theodolite machine using in Tamil Nadu land survey?

(A) “Y’-pattern (B) Everest
JC) Transit (D) Top corn
s8PETH o demeas gopuld LwaL@SsLLGD HCwr ol smel Spsau euamsmw
ENMhes?
| (A) " Gui e (B) erauGpevl
(C) Lpmemd (D) Crlisrien
51. What will be the De-marcation map?
(A) Measurements (B) Sub-division numbers
! JC) Stone number (D) Details
! gLoniGasen euemruLgBle Sipaaimn. Lufloser G)wmeEn?
(A)  sleTeyger (B) = 9fey crammaar
(C) &6 ere ‘(D) efaradaer

B2, RINEX means

\/A) Receiver Independent Exchange (B) Receiver Intermittent Exchange
(C)  Receiver Index Exchange . (D) Receiver Intermediate Exchange
RINEX crénLigy ' '
A)  Medeut @earrgQuarr_eam’ a&Gagrd - (B)  MeSeut @ewr sl L aor eré6Cagné
(C) Medoui GarQi_den eréCagnd (D)  Medeurr GearL B Cui’ eraCogné
X7 : 090/DM/19
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83, GCP means

(A)  Ground Centre Point MB)
(C) Global Centre Point (D)
GCP erennig)

(A)  Ayeer Geear i Lmidm (B)
©)  @Garmuc Qe it L (D)

54. PGPS means

v
:

B)

Primary Ground Control Points

Police Ground Control Points

(C)  Powerful Ground Control Points

(D)  Primary Ground Centre Points

PGPS eréiig

(A)  Geogiof Eyeya s Crméd Limdia e
(B) CGurellav e e sewr_ Gymed Lmlemm e
(C) ueuyed Sreyar saml_Crmed Lmiier e
M)  Qeryiof Eyeyeim. Qednir Limiiaim. e

85, SCPS means

(A)  Senior Control Points

(B)  Secondary Control Power Station

(C)  Superior Control Power Station

JD) Secondary Control Points

SCPS ererrug

(A) Sallui sewm_Cpmeéd LimiieT e

(B) Qaseao M seor Crme Leur VG g6

©)  sinSfuit seim Gyred Lieuit uGLsen

(D) Qesam_f s _Gyred Limliear_ev
090/DM/19 18
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56. ETS means

on

Electronic Transfer Service

(B)  Electronic Total Structure
wC) Electronic Total Station

(D) Electronic Time Station

ETS Gl'd‘ﬂ;.lgj

.(A) &L rreflE wrmeneou Fielen

B) s grells CLml L6 evLr&FT

(C) erewsl grafld Gl e evGL g

(D) ereslprellé e b doGLsen

57. .What is the value of 2 is

A)
(©)

1.514
1.614

2-er L)L | eretian ?

(A)
(©)

1.514

1.614

v
(

D)

(B)
(D)

58.  What is the formula to find area of gemi-circle?

(©)

A

(1)

Sienreul_Lgdlem LIl Sramib @SS ereten?

(A)

(€)

(B)

(D)

19

1.414

1.714

1.414

1.714

090/DM/19
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59.  Which number is used to divide to find Long-E in Time Sheet?
wA) 15 (B) 25 .
© 35 (D) 45 :
Time sheet-e Long-E-ér Caransans argsamanuned eu@és GoudmHib?
(A) 15 (B) 25
€ 35 D) 45

60, UTM means

(A)  Ultra Test Machine (B) United Transfer Merchants

(C)  Unicode Test Machine “D) Universal Transverse Mercator

UTM erénLig)

(A) @l gr Qe Quden (B)  weenG@L qgransour @ wiseT e

©) weGar@® QLovl Quden (D) wefleurGeaa 4 yrersv@euned GQuorCai
61.  How many segments in GPS survey? ,

A 2 MB) 3

< 4 (D) 5

a8l 19 erav. emanouudled e cren LigdladT erdmanan?

(A) 2 B) 3
€ 4 D) 5

62.  What is the formula to find perimeter of a rectangle?

v 2xdeb) - (B) 2x(a-b)
©  2(b+h) | | D) 2x(Ix0)

Clssiaissdlen sHmeTe STamid @GSHTD eraman?

@)  2x(+b) B) 2x(a-b)
©  2(b+h) D) 2x(xD
090/DM/19 ve 20



In which district Punganoor survey is implemented in Resurvey?
%(A) Tiruvannamalai (B) Pudukottal
(C) Maduxal,_ F (D) Trichy
L|rRISEITIT &n@m‘@m;‘;ﬁpmm; LnrraJl_l_g;_ﬁm mible ojerenaiufer GLins) pml_@mmufggguuu_@?
(A) Smeuamenmmioene (B) ygaECam e

(C)  wgeor D)  Hopes

64. Which of the following was used to maintain Land survey and Records at the time of early
19th century?

(A)  Metric WB) . Bi-mash

(O SR (D) Land Register

19-,1b prpmramger ppuGHdd Hosdea vlere wHHID udleyser uHGau® epevid
uprwflésiul L g, :

(A) Quif& (B) enuomes

(C)  erev.ered. <y (D) Hletr uSGeu(®

65. Which act is used to scrutiny by Deputy Inspector of Surveyor when Land Acquisition?

A 4d) (B) 4(2)
(C)  13h Notice _ M) 9(2)
e er@Uld : Heveudler 2 L Gfley Seuamhiser eulL gianew SLUIGITETTEY (L6

sapmie] Qewtiu@ & ns). .
(A) 41 B) 4(2)
(C)  13™¥ eflembuigid (D) 9(2)

66. Which notice is used to renewal in missing stone?

Ay 6(1) W B 15@2)
© 17 ; : D) 9()
ugrnfliy uaefld srammod Guner spaar LgLAss Ger@asiuio Cpriieev
B,
| (A 6(Q1) (B) 15(2)
(<) 19 (D) 9(_1)
21 090/DM/19
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67.  How many chain in 1 Furlong?

1A 10 B) 8 ®

©). .12 (D). 16
1 wiremsi@ss srgsgmm Qgullen?
A) 10 (B) 8
(C) 12 (D) 16

68. If12x =1728 thenxis
Aa) 2 (B) 4

v o 3 D) 5

12x = 1728 arafilev x =
@A) 2 ®B 4
© 3 M) 5

69. An opposite side of a right-angled tri-angle is
(A)  Adjacent side B) 90

\ﬁC) Hypotenuse (D) Equal
g GemGanen apsCamenrgElen @aréJG&rfmr;i,raf,’ch THTLIEHHD ——————————— b,
Q) @sgiETeT USED B) 90 |

(C)  arewrid (D) swb

70. - The centroid of an angled lies in ~.

wA) inside (B) outside

(C)  top of right-angled triangle (D) none of the above
NNCaremr apsCanangdar @H56CHT( @wwLd & Q&g
A) oarCer (B) GeuafGus
(C)  demGanewgHlern o sHufed (D)  ggib Gevane
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~ 71.  Exterior Angle in the triangle is equal to

@A) Inopposite .',(B)

(C)  Exterior angle

@ waGaramsdear Qauafls&Cananriomang)

(A) . earerdi
(C) QeuefaCamemmid
72.  The decimal of 3/4 is ———.
f(A) 0.75
(C) 0.85
3/4-6 &0 GugGULD
(A) 0.75
(C) 0.85
73. Street Survey
J(A) Boundaries
(C)  Preparation of field boundaries
g DlieTeneu eTeTLIg)
(A)  ereveneuser
(C)  ye erebepavaanar suwinflgzed
74.  What is the complementary angle of 48 is?
¢A) 42
<©C 52
48-ufen Blirliyd CamenTib ereve?
(A) 42
©) 52
23

(D)

(B)
(D)

(D)

(B)

(D)

(B)
(D)

(D)

(B)
(D)

(B)
(D)

Interior angle
Straight angle

& (HBN&GE 51007
2_dr Camemrid

CrirGaramid

0.65

0.95

0.65

0.95

Side field boundary
Preparation of FMS
L& L|GD Grevena
LeiuL b wrflgse
32

132

32
132

090/DM/19
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75. What is the supplemenﬁary angle of 90 degree?

A) - 180 : \,(B)

(©) 270 (D)

90-ufletr Bemas Hliriiys (B&rr-mnh eremen’?

(A) 180 (B)

) 270 (D)
76. What is the form of 0.8 in p/q?

\/A) s (B)
€y + 2 (D)
0.3-a1 p/q augend ereme?

A 13 (B)

© - 1/2 (D)
11. 180 < X < 360 if so, what is the value of X?

(A)  Straight angle (B)

\/(C) Back curved angle (D)
180 < X < 360 erafleh X-a odiiLy eretnen?

(A) st Gamemrid (B)
(C)  Yemeueng Camemrid (D)
78. What is the UTM of Tamil Nadu?

'w(A) 43p & 44p (B)
(C) 42p & 43p )
sBlpmrigem UTM ereren?

(A) 43p & 44p (B)
(C) 42p & 43p (D)

090/DM/19 24

90
60

90
60

3/4
174

3/4
1/4

Obtuse angle

Right angle

AR CaranTld

G amGsmenmid
44p & 45p
412p & 45p

44p & 45p
42p & 45p




79. RRC means
JA) Right Roﬁnd Circuit
(C) Railway Road Circuit
RRC eresig
(A) anyL U@.]Gﬁiﬂ"@ SMGLH
(C) QpeGeu Gy aiduy

(B).
(D)

(B)
(D)

Right Road Circuit

Revenue Road Circuit

gl G sl

Qefleny, Cpr() siéuL

80. . : What is the variation of time between London and India is

S 530

(C) 5.00

B)
(D)

5,45
6.10

earret Crrsdheb @pHw Crrsdh@b e drer eflfluimeld eranen?

(A) 5.30
(C)  5.00

81. What is the total angle of a triangle?

¢A) 180

(C) 160

a(m p&Canemgdlen Qionss Ganeawnd erene?

(A) 180
(C) 160
82.  How many acres in a square mile?

(A) 630 acres

(C) 600 acres .

B FHIT MDNIEE THHENET 6] &I ?
(A) 630 gaar

‘ (C) 600 g&sn

e - ot

(B)
D)

(B)
()

(B)

D)

O

(D)

(B)
(D)

25

5.45
6.10

360

90

360

90

640 acres

680 acres

640 gasn

680 grasm

090/DM/19
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83. How many inches in feet?

(A) 14inch (B) 10inch &
¢(C) 12 inch (D) 30 inch
PO S50 appeen G657
A) 14 @@ (B) 10 @eré
© 12@¢H D) 30 @esé
84. How many kilo-meters in one mile?
(A) 1.8 k.m w(B) 1.6 k.m
(C) 2.00km (st 14 k.r_n
R MDIES THSman &.157?
(A) 1848 , (B)- 1.64.8
(C) 2004.8 ; (D) 144.8
85.  Inearth approximate longitude from which direction to direction?
VW NorthtoSouth " (B) South to North
(C)  East to West (D) West to East

LhBludler ignionen SirsaGrans erbs Hlenauiled b ebs Hevsufd @G éeEb?

A) e sddmbg OsnHE (B) Qapdledmhgl ai @
(C)  fipsdampbg GuonE (D) Cuplldmps Hpses
86.  How many cents in a square chain?
(A) 20 cent ’B) 10 cent
(C) 8cent (D) 100 cent

G 617 sR1dlléG ardsenen Qastm’ G meeEh?
(A) 20 Qgeqr (B) - 10 Qaegori’
(C) 8Qaem. - (D) 100 Qe
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87.

88,

89.

90.

F-line Register maintained at

.(A) July to June
\AC) January to December

F-line ugGeu@® LpmoféstiuHeug
A) o99me- gg-é)sifr

(C) meveulfl — gabuf

How many acres in two mile?
(A) 1250 acre

(C) 1300 acre

2 55T DA GTETLIG) CTHSME T H&IT?
(A) 1250 g&ar

(C) 1300 géaf

How many square feet in a cent?
(A) 436 sq.ft

(C) 535 sq.ft

G5 Qe &G aTasman 5517 3iiq.?
(A) 436 g7 Sig

(C) 535&gm 214

. How many feetin a k.m?

(A) 4300 ft

(C) 3800 ft

(1 8115 erediLIg) aTES e il ?
(A) 4300 =g

(C) 3800 2.

(B)
M)

(B)
(D)

W tB)

D)

(B)
(D)

w(B)

D)

(B)
(D)

[ o (B)
(D)
(B)

D)

27

April to March ~
March to February

LI — WBMTE

omé — Acieu

1280 acre

1260 acre

1280 gr&am

1260 gési

435.6 sq.ft

638 sq.ft

435.6 g1y Sl

638 #5117 3iiq.

3281 ft

5200 ft

3281 =iy
5200 =i

090/DM/19
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91. Find out the formula of the triangle’s area?

\,@) 1/2 bh

(C) 1/12bh

(B)

- (D)

1/8 bh kS

xr’ P

apaGamanr auigeu Blogdler uriy smilés G ereran?

(A 1/2bh

(C) 1/12bh

92.  Ratio of TAN is
f(A) Opposite side / base
(C) Base/ opposite side
CLeir eldlg5m 6T(Lpg)s.
(A)  eadlitussd [ @igl1L&sD

(C)  Syguussd | adiuésid

(B)

(D)

(B)
(D)

(B)
(D)

1/8 bh

2

TFT

Hypotenuse / base

Hypotenuse / opposite

sirawrd [ g iudsd

girewrid / erdlifudaid

93 Each triangle of right polygon is 156, if so, hgw many sides in that polygon?

/(A) 15 pages

(C) 12 pages

(B)
(D)

2D pages

20 pages

@(pnE LeCarearsdlen wpa&Caneammb geaieuneambd 156 erefled oiges L&aHR&E 6rgenen ?

- (B)

(A) 15 uésid

(C) 12 ussid

94 NOS means

/(A) Non Offset Segment

(C)  Nero Offset System
GTGT. . 6TEN. GT6UT DTGV GTEvTEw 7

(A)  mmeir pibla’ Qedsbline
(C)  BCym Qs HavLib

090/DM/19
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(D)

25 L&sib

20 ussib

No Offset System
Nil Offset System

Grr @,1Gs . favLtb
Hléd Qe fevLb




95.

96.

97.

D & O system means

’(A) Diagonal & Offset System

(B)  Direct Offset System
(C)  District Offset System

(D)  Dilute Offset System

1. & @ flenvitb eremnLig)

(A eLwéaned LHHID UGS HeviLd
(B) wlpsl gubsl Sevid
(C)  wevigfs ibel Heviid

D) e gy’ s Sevtb

How many years once should a survey be taken for a village that lies near the border of the

sea?
(A) 20 years

(C) 25 years

f(B) 15 years

(D) 30 years

&L @b erevemawita 2_drer SrmngHe sL_Geny craenaeamul erhsamen aubLsHDG @ pap sTGeu

e Geuar(Hid?
(A) 20 eumLid

©) 25aumLid

Horizontal leveling means

\/b (A) Leveling state

(C) Right-angled state
e UL FGTUNSSHISD eTaTpmed eraman?
(A)  swger sjeredldh

(C) QoriCamment 2iemailed

29

(B)
)

B)

(D)

(B)
(D)

15 augpLLb

30 eu(pLLD

Opposite state

Seven side state

erdlit yemalicy

(P LIES Bemeiled

090/DM/19
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98.

99.

100.

The patta issuing authority for a full field is

(A) Tahsildar

(C) VAO

eul_Lm_Huwsr

(A)

© A

Co-ordinate means
(A) Axis of right-angle
(C) Rey method

Cﬁ‘asn—%ﬁrq_(}"r_m'_ GTEOTLIG)

(A) OsrCsrew &6

©  Croperp

v B

(D)

.Qp@ LeHE D@ LT DTS eUpRIGD Sidlamfl

(B)

(D)

B

()

(B)

)

What is the height of cross tap?

| ¢(A) - 135 em

) 125 em

(B)

D)

e Syrevml sleoLuller eLwrd eresran?

(A)  135Qa.8.
C) 125Qs.8.
090/DM/19

(B)

(D)

Dy. Tahsildar

Revenue Inspector
sienewt eui L Husrf
6U(THEUITUI B,UIGUITEITIT
Co-ordinate distance
None of the above
S|EEG GITRIGET

Cupaen_ ergia|fleana

145 em

160 em

145 Qa.18.

160 Q&.18.

30
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